

THE BOUNDARY VALUE PROBLEM OF PLATES WITH
DOUBLE POROSITY BY THE VEKUA METHOD
FOR APPROXIMATIONS $N=1$

B. Gulua^{1,2}, R. Janjgava^{1,3}, M. Narmania^{1,4}

¹Faculty of Exact and Natural Sciences
and I. Vekua Institute of Applied Mathematics
of Iv. Javakishvili Tbilisi State University
2 University Str., Tbilisi 0186, Georgia

²Sokhumi State University
61 A. Politkovskaia Str., Tbilisi 0186, Georgia

³Georgian National University SEU
9 Tsinandali Str., Tbilisi 0144, Georgia

⁴University of Georgia
77 M. Kostava Str., Tbilisi 0175, Georgia

(Received: 17.01.2017; accepted: 11.06.2017)

Abstract

The purpose of this paper is to consider the linear theory of elasticity for solids with double porosity. From this system of the equations, using a method of a reduction of I. Vekua, we receive the equilibrium equations. Using the analytic functions of a complex variable and solutions of the Helmholtz equation. The Dirichlet boundary value problem are solved explicitly for approximation $N = 1$.

Key words and phrases: Double porosity, the Dirichlet boundary value problem.

AMS subject classification: 74K20, 74F10, 74G05.

1 Introduction

In the last decade there has been interest in investigation of problems of the theories of elasticity and thermoelasticity for solids with double porosity based on the Darcys law. The first theory of consolidation for elastic materials with double porosity was presented in [1-3]. The Aifantis theory unifies the earlier proposed models of Barenblatt et al. [4] for porous media with double porosity and Biot [5] for porous media with single porosity. The fundamental solutions in the theories of elasticity and thermoelasticity for materials with double porosity are constructed by Scarpetta et al. [6], Svanadze [7], Svanadze and De Cicco [8].

2 Basic Equations

Let an elastic body with double porosity occupy the domain $\bar{\Omega} \subset R^3$. Denote by (x^1, x^2, x^3) a point of the domain $\bar{\Omega}$ in the arbitrary curvilinear system of coordinates. Let the domain $\bar{\Omega}$ be filled with an elastic isotropic homogenous medium having double porosity. The considered solid body is characterized by the displacement vector $\mathbf{u} = (u^1, u^2, u^3)$, and also by the fluid pressures $p_1(x^1, x^2, x^3)$ and $p_2(x^1, x^2, x^3)$ occurring respectively in the pores and fissures of the porous medium.

Then a homogeneous system of static equilibrium equations is written in the form [7]

$$\partial_i \sigma_{ij} = 0, \quad (1)$$

where $\partial_i \equiv \frac{\partial}{\partial x_i}$, σ_{ij} are components of stress tensor, the summation over the recurring index i is assumed to be made from 1 to 3.

Formulas that interrelate the stress components, the displacement vector components and the pressures p_1, p_2 have the form [7]

$$\sigma_{ij} = (\lambda \partial_k u_k - \beta_1 p_1 - \beta_2 p_2) \delta_{ij} + \mu (\partial_i u_j + \partial_j u_i). \quad (2)$$

where λ and μ are the Lamé parameters; β_1 and β_2 are the effective stress parameters; δ_{ij} is the Kronecker delta.

In the stationary case, the values p_1 and p_2 satisfy the following system of equations

$$\begin{cases} (k_1 \Delta_3 - \gamma) p_1 + (k_{12} \Delta_3 + \gamma) p_2 = 0, \\ (k_{21} \Delta_3 + \gamma) p_1 + (k_2 \Delta_3 - \gamma) p_2 = 0 \end{cases} \quad \text{in } \Omega, \quad (3)$$

where $k_1 = \frac{\kappa_1}{\mu'}$, $k_2 = \frac{\kappa_2}{\mu'}$, $k_{12} = \frac{\kappa_{12}}{\mu'}$, $k_{21} = \frac{\kappa_{21}}{\mu'}$; μ' is fluid viscosity; κ_1 and κ_2 are the macroscopic intrinsic permeabilities associated with matrix and fissure porosity; k_{12} and k_{21} are the cross-coupling permeabilities for fluid flow at the interface between the matrix and fissure phases; $\gamma > 0$ is the internal transport coefficient and corresponds to fluid transfer rate with respect to the intensity of flow between the pore and fissures; Δ_3 is the three-dimensional Laplace operator.

It is easy to show that if $\gamma > 0$, $k_1 k_2 - k_{12} k_{21} > 0$, then the system of equations (3) is equivalent to two independent equations: to the Laplace equation

$$\Delta \tilde{p}_1 = 0 \quad \text{in } \Omega \quad (4)$$

and to the Helmholtz equation

$$\Delta \tilde{p}_2 - \zeta^2 \tilde{p}_2 = 0 \quad \text{in } \Omega, \quad (5)$$

where

$$\tilde{p}_1 := (k_1 + k_{21}) p_1 + (k_2 + k_{12}) p_2, \quad \tilde{p}_2 := p_1 - p_2,$$

$$\zeta^2 := \frac{\gamma(k_1 + k_2 + k_{12} + k_{21})}{k_1 k_2 - k_{12} k_{21}} > 0.$$

3 Approximation $N = 1$

In [9] we apply I. Vekua’s method for a reduction of the equations (1-5) [10].

Consider approximation of the order $N = 1$.

We introduce the complex variable $z = x_1 + ix_2$ ($i^2 = -1$) and the operators $\partial_z = 0.5(\partial_1 - i\partial_2)$, $\partial_{\bar{z}} = 0.5(\partial_1 + i\partial_2)$ ($\bar{z} = x_1 - ix_2$). The two-dimensional Laplace operator is expressed as $\Delta = 4\partial_z\partial_{\bar{z}}$.

The homogenous system of equation of the elastic plate may be written in the following complex form [10]:

$$\begin{cases} \mu\Delta \tilde{u}_+^{(0)} + 2(\lambda + \mu)\partial_{\bar{z}} \vartheta^{(0)} - \frac{2\lambda}{h}\partial_{\bar{z}} \tilde{u}_3^{(1)} - 2\partial_{\bar{z}}(\beta_1^* \tilde{p}_1^{(0)} + \beta_2^* \tilde{p}_2^{(0)}) = 0, \\ \mu\Delta \tilde{u}_3^{(1)} - \frac{3\lambda}{h} \vartheta^{(0)} - \frac{3(\lambda + 2\mu)}{h^2} \tilde{u}_3^{(1)} + \frac{3}{h}(\beta_1^* \tilde{p}_1^{(0)} + \beta_2^* \tilde{p}_2^{(0)}) = 0, \end{cases} \quad (6)$$

$$\begin{cases} \mu\Delta \tilde{u}_+^{(1)} + 2(\lambda + \mu)\partial_{\bar{z}} \vartheta^{(1)} - \frac{6\mu}{h}\partial_{\bar{z}} \tilde{u}_3^{(0)} - \frac{3\mu}{h^2} \tilde{u}_+^{(1)} \\ - 2\partial_{\bar{z}}(\beta_1^* \tilde{p}_1^{(1)} + \beta_2^* \tilde{p}_2^{(1)}) = 0, \\ \mu\Delta \tilde{u}_3^{(0)} + \frac{\mu}{h} \vartheta^{(1)} = 0. \end{cases} \quad (7)$$

$$\Delta \tilde{p}_1^{(0)} - \frac{3}{h^2} \tilde{p}_1^{(0)} = 0, \quad \Delta \tilde{p}_2^{(0)} - \left(\frac{3}{h^2} + \zeta^2\right) \tilde{p}_2^{(0)} = 0, \quad (8)$$

$$\Delta \tilde{p}_1^{(1)} - \frac{15}{h^2} \tilde{p}_1^{(1)} = 0, \quad \Delta \tilde{p}_2^{(1)} - \left(\frac{15}{h^2} + \zeta^2\right) \tilde{p}_2^{(1)} = 0, \quad (9)$$

where

$$\tilde{p}_\alpha^{(k)}(x^1, x^2) = \left(k + \frac{1}{2}\right) \frac{1}{h} \int_{-h}^h \tilde{p}_\alpha(x^1, x^2, x^3) P_k\left(\frac{x^3}{h}\right) dx^3,$$

$$\tilde{u}_i^{(k)} = \left(k + \frac{1}{2}\right) \frac{1}{h} \int_{-h}^h u_i(x^1, x^2, x^3) P_k\left(\frac{x^3}{h}\right) dx^3,$$

$$\tilde{u}_+^{(k)} = \tilde{u}_1^{(k)} + i\tilde{u}_2^{(k)}, \quad \vartheta^{(k)} = \partial_z \tilde{u}_+^{(k)} + \partial_{\bar{z}} \overline{\tilde{u}_+^{(k)}}, \quad k = 0, 1,$$

$$\beta_1^* = \frac{\beta_1 + \beta_2}{k_0}, \quad \beta_2^* = \frac{\beta_1(k_2 + k_{12}) - \beta_2(k_1 + k_{21})}{k_0},$$

$$k_0 = k_1 + k_2 + k_{12} + k_{21},$$

$P_k\left(\frac{x^3}{h}\right)$ is the Legendre polynomials of order k .

The general solution of the equations (6-9) have the following form

$$\begin{pmatrix} 0 \\ p_1 \end{pmatrix} = \begin{pmatrix} 0 \\ \chi_1 \end{pmatrix}(z, \bar{z}), \quad \begin{pmatrix} 0 \\ p_2 \end{pmatrix} = \begin{pmatrix} 0 \\ \chi_2 \end{pmatrix}(z, \bar{z}), \quad \begin{pmatrix} 1 \\ p_1 \end{pmatrix} = \begin{pmatrix} 1 \\ \chi_1 \end{pmatrix}(z, \bar{z}), \quad \begin{pmatrix} 1 \\ p_1 \end{pmatrix} = \begin{pmatrix} 1 \\ \chi_1 \end{pmatrix}(z, \bar{z}), \quad (10)$$

$$2\mu \begin{pmatrix} 0 \\ u_+ \end{pmatrix} = \varkappa^* \varphi(z) - z\overline{\varphi'(z)} - \overline{\psi(z)} - \frac{\lambda h}{6(\lambda + \mu)} \partial_{\bar{z}} \chi(z, \bar{z})$$

$$+ \frac{4h^2}{3} a_0 \partial_z \begin{pmatrix} 0 \\ \chi_1 \end{pmatrix}(z, \bar{z}) + \frac{4h^2}{3 + \zeta^2 h^2} b_0 \partial_z \begin{pmatrix} 0 \\ \chi_2 \end{pmatrix}(z, \bar{z}), \quad (11)$$

$$2\mu \begin{pmatrix} 1 \\ u_3 \end{pmatrix} = \chi(z, \bar{z}) - \frac{2\lambda h}{3\lambda + 2\mu} (\varphi'(z) + \overline{\varphi'(z)}) + a_1 \begin{pmatrix} 0 \\ \chi_1 \end{pmatrix}(z, \bar{z}) + a_2 \begin{pmatrix} 0 \\ \chi_2 \end{pmatrix}(z, \bar{z}), \quad (12)$$

$$\begin{pmatrix} 1 \\ u_+ \end{pmatrix} = i\partial_{\bar{z}} \tau + \frac{4h^2(\lambda + 2\mu)}{3\mu} \overline{f''(z)} + z\overline{f'(z)} + f(z) - 2h\overline{g'(z)}$$

$$+ \frac{1}{2(\lambda + 2\mu)h} \left(\frac{4h^2}{15} \beta_1^* \partial_{\bar{z}} \begin{pmatrix} 1 \\ \chi_1 \end{pmatrix}(z, \bar{z}) + \frac{4h^2}{15 + \zeta^2 h^2} \beta_2^* \partial_{\bar{z}} \begin{pmatrix} 1 \\ \chi_2 \end{pmatrix}(z, \bar{z}) \right), \quad (13)$$

$$\begin{pmatrix} 0 \\ u_3 \end{pmatrix} = -\frac{1}{2h} (\bar{z}f(z) + z\overline{f(z)}) + g(z) + \overline{g(z)}$$

$$- \frac{1}{4(\lambda + 2\mu)} \left(\frac{4h^2}{15} \beta_1^* \begin{pmatrix} 1 \\ \chi_1 \end{pmatrix}(z, \bar{z}) + \frac{4h^2}{15 + \zeta^2 h^2} \beta_2^* \begin{pmatrix} 1 \\ \chi_2 \end{pmatrix}(z, \bar{z}) \right) \quad (14)$$

where $\varkappa^* = \frac{5\lambda + 6\mu}{3\lambda + 2\mu}$, $\varphi(z)$, $\psi(z)$, $f(z)$, $g(z)$ are an arbitrary analytic function of z , $a_\alpha = \frac{12\mu h}{9\lambda + 6 - \delta_{\alpha 2} \zeta^2 (\lambda + 2\mu) h^2} \beta_\alpha^*$, ($\alpha = 1, 2$), $a_0 = \frac{4\mu h^2}{3(3\lambda + 2\mu)} \beta_1^*$, $b_0 = \frac{4\mu h^2}{3 + h^2 \zeta^2} \frac{3 - h^2 \zeta^2}{9\lambda + 6\mu - \zeta^2 (\lambda + \mu) h^2} \beta_2^*$, $\chi(z, \bar{z})$, $\tau(z, \bar{z})$, $\begin{pmatrix} 0 \\ \chi_1 \end{pmatrix}(z, \bar{z})$, $\begin{pmatrix} 0 \\ \chi_2 \end{pmatrix}(z, \bar{z})$, $\begin{pmatrix} 1 \\ \chi_1 \end{pmatrix}(z, \bar{z})$, $\begin{pmatrix} 1 \\ \chi_2 \end{pmatrix}(z, \bar{z})$ are the general solutions of the following Helmholtz equations

$$\Delta \chi - \eta^2 \chi = 0, \quad \Delta \tau - \gamma^2 \tau = 0, \quad \Delta \begin{pmatrix} 0 \\ \chi_1 \end{pmatrix} - \eta_1^2 \begin{pmatrix} 0 \\ \chi_1 \end{pmatrix} = 0, \quad \Delta \begin{pmatrix} 1 \\ \chi_1 \end{pmatrix} - \eta_2^2 \begin{pmatrix} 1 \\ \chi_1 \end{pmatrix} = 0,$$

$$\Delta \begin{pmatrix} 1 \\ \chi_1 \end{pmatrix} - \eta_3^2 \begin{pmatrix} 1 \\ \chi_1 \end{pmatrix} = 0, \quad \Delta \begin{pmatrix} 1 \\ \chi_2 \end{pmatrix} - \eta_4^2 \begin{pmatrix} 1 \\ \chi_2 \end{pmatrix} = 0, \quad \eta^2 = \frac{12(\lambda + \mu)}{(\lambda + 2\mu)h^2},$$

$$\gamma^2 = \frac{3}{h^2}, \quad \eta_1^2 = \frac{3}{h^2}, \quad \eta_2^2 = \left(\frac{3}{h^2} + \zeta^2 \right), \quad \eta_3^2 = \frac{15}{h^2}, \quad \eta_4^2 = \left(\frac{15}{h^2} + \zeta^2 \right).$$

The constructed general solution enables one to solve analytically a sufficiently wide class of boundary value problems of the elastic equilibrium of porous plates with double porosity.

Let's consider the following boundary value problems for system (6)-(9).

Find the solutions of the homogeneous system of equations (6)-(9) compatible with the kinematic boundary conditions:

$$\begin{aligned} \overset{(0)}{u}_+ |_{|z|=R} &= F_+, & \overset{(1)}{u}_3 |_{|z|=R} &= F_3 \\ \overset{(0)}{\tilde{p}}_1 |_{|z|=R} &= H_1, & \overset{(0)}{\tilde{p}}_2 |_{|z|=R} &= H_2, \end{aligned} \tag{15}$$

$$\begin{aligned} \overset{(1)}{u}_+ |_{|z|=R} &= G_+, & \overset{(0)}{u}_3 |_{|z|=R} &= G_3 \\ \overset{(1)}{\tilde{p}}_1 |_{|z|=R} &= H_3, & \overset{(1)}{\tilde{p}}_2 |_{|z|=R} &= H_4, \end{aligned} \tag{16}$$

where F_+, F_3, G_+, G_3, H_i are the known functions.

Let us introduce the functions $\varphi(z), \psi(z), \chi(z, \bar{z}), F_+$ and F_3 by the series:

$$\begin{aligned} \varphi(z) &= \sum_{n=1}^{\infty} a_n z^n, & \psi(z) &= \sum_{n=0}^{\infty} b_n z^n, & F_+ &= \sum_{-\infty}^{\infty} A'_n e^{in\theta}, & F_3 &= \sum_{-\infty}^{\infty} B'_n e^{in\theta}, \\ \chi &= \sum_{-\infty}^{\infty} \alpha_n I_n(\eta r) e^{in\theta}, & \overset{(0)}{\chi}_j &= \sum_{-\infty}^{\infty} \alpha_{jn} I_n(\eta_1 r) e^{in\theta}, & H_j &= \sum_{-\infty}^{\infty} A_{jn} e^{in\theta}, \end{aligned}$$

where $I_n(\cdot r)$ are Bessel's modified functions, $j = 1, 2$.

By substituting (10-12) into (15) we obtain the system of algebraic equations:

$$\begin{aligned} \frac{5\lambda + 6\mu}{3\lambda + 2\mu} R a_1 - R \bar{a}_1 - \frac{\lambda \eta h}{12(\lambda + \mu)} I_1(\eta R) \alpha_0 &= A_1, \\ I_0(\eta R) \alpha_0 - \frac{2\lambda h}{3\lambda + 2\mu} (a_1 + \bar{a}_1) &= B_0, \\ \frac{5\lambda + 6\mu}{3\lambda + 2\mu} R^n a_n - \frac{\lambda \eta h}{12(\lambda + \mu)} I_n(\eta R) \alpha_{n-1} &= A_n \quad (n \geq 2), \\ -(n + 2) R^{n+2} \bar{a}_{n+2} - R^n \bar{b}_n - \frac{\lambda \eta h}{12(\lambda + \mu)} I_n(\eta R) \alpha_{-n-1} &= A_{-n} \quad (n \geq 0), \\ I_n(\eta R) \alpha_n - \frac{2\lambda h}{3\lambda + 2\mu} (n + 1) R^n a_{n+1} &= B_n \quad (n \geq 1). \end{aligned}$$

where

$$A_n = A'_n - \frac{2h^2 \eta_1 a_2}{3} \alpha_{1n} I_n(\eta_1 R) - \frac{2h^2 \eta_2 b_0}{3 + \zeta^2 h^2} \alpha_{2n} I_n(\eta_2 R),$$

$$B_n = B'_n - a_1 \alpha_{1n} I_n(\eta_1 R) - a_2 \alpha_{2n} I_n(\eta_2 R).$$

For coefficients a_n, b_n and α_n we have:

$$\alpha_{1n} = \frac{A_{1n}}{I_n(\eta_1 R)}, \quad \alpha_{2n} = \frac{A_{2n}}{I_n(\eta_2 R)}, \quad (n = 0, \pm 1, \pm 2, \dots),$$

$$\begin{aligned}
a_n &= \frac{(3\lambda + 2\mu) \left(A_n + \frac{\lambda\eta h I_n(\eta R)}{12(\lambda + \mu) I_{n-1}(\eta R)} B_{n-1} \right)}{R^{n-1} \left((5\lambda + 6\mu)R - \frac{\lambda^2 \eta h^2 (n+1) I_n(\eta R)}{6(\lambda + \mu) I_{n-1}(\eta R)} \right)} \quad (n \geq 2), \\
\alpha_n &= \frac{1}{I_n(\eta R)} \left(B_n + \frac{2\lambda \left(A_{n+1} + \frac{\lambda\eta h I_{n+1}(\eta R)}{12(\lambda + \mu) I_n(\eta R)} B_{n+1} \right) (n+1)}{(5\lambda + 6\mu)R - \frac{\lambda^2 h^2 \eta I_{n+1}(\eta R)}{6(\lambda + \mu) I_n(\eta R)} (n+1)} \right) \\
b_n &= -(n+2) \frac{(3\lambda + 2\mu) \left(A_{n+2} + \frac{\lambda\eta h I_{n+2}(\eta R)}{12(\lambda + \mu) I_{n+1}(\eta R)} B_{n+1} \right)}{R^{n-1} \left((5\lambda + 6\mu)R - \frac{\lambda^2 h^2 \eta I_{n+2}(\eta R)}{6(\lambda + \mu) I_{n+1}(\eta R)} (n+2) \right)} \\
&\quad - \frac{\lambda\eta h I_n(\eta R)}{12(\lambda + \mu) R^n I_{n+1}(\eta R)} (B_{n+1}) \\
&\quad + \frac{2\lambda \left(A_{n+2} + \frac{\lambda\eta h I_{n+2}(\eta R)}{12(\lambda + \mu) I_{n+1}(\eta R)} B_{n+1} \right) (n+2)}{(5\lambda + 6\mu)R - \frac{\lambda^2 h^2 \eta I_{n+2}(\eta R)}{6(\lambda + \mu) I_{n+1}(\eta R)} (n+2)} \Bigg) - \frac{\bar{A}_{-n}}{R^n} \quad (n \geq 1), \\
a_1 &= \frac{Re A_1 + \frac{\lambda\eta h I_1(\eta R)}{12(\lambda + \mu) I_0(\eta R)} B_0}{\frac{2(\lambda + 2\mu)}{3\lambda + 2\mu} R - \frac{\lambda^2 h^2 \eta I_1(\eta R)}{3(\lambda + \mu)(3\lambda + 2\mu) I_0(\eta R)}} + \frac{3\lambda + 2\mu}{8(\lambda + \mu)} i \text{Im} A_1, \\
\alpha_0 &= \frac{B_0}{I_0(\eta R)} + \frac{4\lambda \left(Re A_1 + \frac{\lambda\eta h I_1(\eta R)}{12(\lambda + \mu) I_0(\eta R)} B_0 \right)}{2(\lambda + 2\mu) I_0(\eta R) R - \frac{\lambda^2 h^2 \eta I_1(\eta R)}{3(\lambda + \mu)}}.
\end{aligned}$$

Let

$$\begin{aligned}
f(z) &= \sum_{n=1}^{\infty} c_n z^n, \quad g(z) = \sum_{n=0}^{\infty} d_n z^n, \quad G_+ = \sum_{-\infty}^{\infty} M'_n e^{in\theta}, \quad G_3 = \sum_{-\infty}^{\infty} N'_n e^{in\theta}, \\
\tau &= \sum_{-\infty}^{\infty} \beta_n I_n(\gamma r) e^{in\theta}, \quad \chi_j^{(1)} = \sum_{-\infty}^{\infty} \beta_{jn} I_n(\eta_3 r) e^{in\theta}, \quad H_{j+2} = \sum_{-\infty}^{\infty} A_{j+2n} e^{in\theta}.
\end{aligned}$$

We now find the coefficients c_n , d_n and β_n from following system of algebraic equations:

$$\frac{i\gamma}{2} I_1(\gamma R) \beta_0 + R(c_1 + \bar{c}_1) = M_1, \quad d_0 + \bar{d}_0 - \frac{R^2}{2h} (c_1 + \bar{c}_1) = N_0,$$

$$\begin{aligned}
 & \frac{i\gamma}{2} I_n(\gamma R) \beta_{n-1} + R^n c_n = M_n \quad (n \geq 2), \\
 & \frac{i\gamma}{2} I_n(\gamma R) \beta_{-n-1} - 2(n+1)R^{n+1} \bar{d}_{n+1} + (n+2) \bar{c}_{n+2} + \\
 & + \frac{4h^2(\lambda + 2\mu)}{3\mu} (n+1)(n+2)R^n \bar{c}_{n+2} = M_{-n} \quad (n \geq 0), \\
 & R^n d_n - \frac{R^{n+2}}{2h} c_{n+1} = N_n \quad (n \geq 1),
 \end{aligned} \tag{17}$$

where

$$\begin{aligned}
 M_n &= M'_n - \frac{h}{\lambda + 2\mu} \left(\frac{\eta_3 \beta_1^* \beta_{1n}}{15} I_n(\eta_3 R) + \frac{\eta_4 \beta_2^* \beta_{2n}}{15 + \zeta^2 h^2} I_n(\eta_4 R) \right), \\
 N_n &= N'_n + \frac{h^2}{\lambda + 2\mu} \left(\frac{\beta_1^* \beta_{1n}}{15} I_n(\eta_3 R) + \frac{\beta_2^* \beta_{2n}}{15 + \zeta^2 h^2} I_n(\eta_4 R) \right).
 \end{aligned}$$

The solutions of the system (17) have the following forms:

$$\begin{aligned}
 \beta_{1n} &= \frac{A_{3n}}{I_n(\eta_3 R)}, \quad \beta_{2n} = \frac{A_{4n}}{I_n(\eta_4 R)}, \quad (n = 0, \pm 1, \pm 2, \dots), \\
 c_n &= \frac{\bar{M}_{-n+2} + \frac{I_{n-2}(\gamma R)}{I_n(\gamma R)} M_n + \frac{2(n-1)}{R} N_{n-1}}{\left(\frac{I_{n-2}(\gamma R)}{I_n(\gamma R)} + 1 \right) R^n + \frac{4h^2(\lambda + 2\mu)}{3\mu} (n-1)nR^{n-2}} \quad (n \geq 2), \\
 d_n &= \frac{N_n}{R^n} + \frac{R^2 \left(\bar{M}_{-n+1} + \frac{I_{n-1}(\gamma R)}{I_{n+1}(\gamma R)} M_{n+1} + \frac{2n}{R} N_n \right)}{2 \left(\frac{I_{n-1}(\gamma R)}{I_{n+1}(\gamma R)} + 1 \right) R^{n+1} + \frac{8h^2(\lambda + 2\mu)}{3\mu} n(n+1)R^{n-1}} \quad (n \geq 1), \\
 \beta_n &= \frac{2}{i\gamma I_{n+1}(\gamma R)} \left(M_{n+1} - \frac{\left(\bar{M}_{-n+1} + \frac{I_{n-1}(\gamma R)}{I_{n+1}(\gamma R)} M_{n+1} + \frac{2n}{R} N_n \right) R^2}{\left(\frac{I_{n-1}(\gamma R)}{I_{n+1}(\gamma R)} - 1 \right) R^2 + \frac{4h^2(\lambda + 2\mu)}{3\mu} n(n+1)} \right), \\
 & \quad (n \geq 1), \\
 c_1 + \bar{c}_1 &= \frac{\operatorname{Re} M_1}{R}, \quad d_0 + \bar{d}_0 = \frac{\operatorname{Re} M_1}{2h} R + N_0, \quad \beta_0 = \frac{2\operatorname{Im} M_1}{\gamma I_1(\gamma R)}.
 \end{aligned}$$

It is easy to prove the absolute and uniform convergence of the series obtained in the circular ring (including the contours) when the functions

set on the boundaries have sufficient smoothness.

Acknowledgement

The designated project has been fulfilled by a financial support of Shota Rustaveli National Science Foundation (Grant SRNSF/FR/358/5-109/14).

References

1. Wilson RK, Aifantis EC On the theory of consolidation with double porosity -I. *Int. J. Eng. Sci.*, **20** (1982), 1009-1035.
2. Khaled MY, Beskos DE, Aifantis EC On the theory of consolidation with double porosity -III. *Int. J. Numer. Anal. Methods Geomech.*, **8** (1984), 101-123.
3. Beskos DE, Aifantis EC On the theory of consolidation with double porosity -II. *Int. J. Eng. Sci.*, **24** (1986), 1697-1716.
4. Barenblatt GI, Zheltov IP, Kochina IN Basic concept in the theory of seepage of homogeneous liquids in fissured rocks (strata). *J. Appl. Math. Mech.*, **24** (1960), 1286-1303.
5. Biot MA General theory of three-dimensional consolidation. *J. Appl. Phys.*, **12** (1941), 155-164.
6. Scarpetta E., Svanadze M., Zampoli V. Fundamental solutions in the theory of thermoelasticity for solids with double porosity. *J. Therm Stresses*, **37** (2014), 727-748.
7. Svanadze M. Fundamental solution in the theory of consolidation with double porosity. *J. Mech. Behav. Mater.*, **16** (2005), 123-130.
8. Svanadze M., De Cicco S. Fundamental solutions in the full coupled linear theory of elasticity for solid with double porosity. *Arch. Mech.*, **65** (2013), 367-390.
9. Gulua B., Janjgava R., Narmania M. Derivation of system of the equations of equilibrium for shallow shells and plates, having double porosity. *Appl. Math. Inform. Mech.* **21** (2016), no. 2, 16-37.
10. Vekua, I.N. *Shell Theory: General Methods of Construction*. Pitman Advanced Publishing Program, Boston-London-Melbourne, 1985.